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Section - I (English)

Q.No: 1 What do the idiom "let sleeping dogs lie" mean?

Avoid stirring up trouble or problems

Let the dogs sleep on the bed

Lie down with dogs

Wake up the dogs

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is
said in the paragraph:

Importance of Renewable Energy

Renewable energy sources, such as solar and wind power, are crucial for a sustainable future. Unlike fossil fuels, these sources are clean
and do not contribute to greenhouse gas emissions. Solar panels harness the power of the sun to generate electricity, while wind
turbines convert wind energy into usable power. Adopting renewable energy technologies is essential to mitigate climate change and
reduce our dependence on finite resources.

What is the focus of the paragraph?

Fossil fuels

Importance of renewable energy

Climate change

Solar panels

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is
said in the paragraph:

Importance of Renewable Energy

Renewable energy sources, such as solar and wind power, are crucial for a sustainable future. Unlike fossil fuels, these sources are clean
and do not contribute to greenhouse gas emissions. Solar panels harness the power of the sun to generate electricity, while wind
turbines convert wind energy into usable power. Adopting renewable energy technologies is essential to mitigate climate change and
reduce our dependence on finite resources.

How do renewable energy sources differ from fossil fuels?

They are finite

They contribute to greenhouse gas emissions

They are clean and sustainable

They are expensive

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is
said in the paragraph:

Importance of Renewable Energy

Renewable energy sources, such as solar and wind power, are crucial for a sustainable future. Unlike fossil fuels, these sources are clean
and do not contribute to greenhouse gas emissions. Solar panels harness the power of the sun to generate electricity, while wind
turbines convert wind energy into usable power. Adopting renewable energy technologies is essential to mitigate climate change and
reduce our dependence on finite resources.

What role do solar panels play in generating electricity?

Convert wind energy

Contribute to greenhouse gas emissions

Depend on finite resources

Harness the power of the sun

Q.No: 5 Choose the correct option that completes the sentence logically and grammatically:

I am not interested ______ participating in the debate club.

in

on

for

to

Q.No: 6 What is the plural of "goose"?

geese

gooses

goosees

goos

Not Answered

Q.No: 7 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative suggested, select the one which
best expresses the same sentence in Passive/Active Voice.

His hard work satisfied me.

I was satisfied at his hard work.

I am satisfying by his hard work.

I was satisfied with his hard work.

I was satisfied for his hard work.

Q.No: 8 Add the appropriate punctuation:

Despite feeling tired __________ he decided to finish the project.

comma (,)

exclamation mark (!)

question mark (?)

period (.)

Q.No: 9 Choose the correct part of speech for the underlined word in the sentence.

The monkey quickly snatched the yellow banana.

Adverb

Noun

Verb

Adjective

Q.No: 10 Choose the correct article in English grammar, that completes the sentence:

_____ Sun shines brightly.

The

A

An

No Article Required

Q.No: 11 What is the Synonym for "Acquire"?

forfeit

abandon

obtain

lose

Q.No: 12 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:

We should help the needy, ______?

should we not

shouldn't we

can we

will we

Q.No: 13 Choose the antonym of the word "robust".

Lusty

Strong

Feeble

Brawl

Not Answered

Q.No: 14 Which sentence is in the past perfect continuous tense?

He will have completed the task by tomorrow.

She had been waiting for an hour.

We go to the beach every summer.

They are playing football in the park.

Q.No: 15 Arrange the following jumbled sentence into a coherent order:

A. Play

B. Read

C. After

D. Games

E. Books

F. School

G. And

H. We

H-B-G-A-C-F-D

H-A-D-G-B-E-C-F

B-D-G-B-E-H-C-F

C-F-H-A-E-G-B-D

Q.No: 16 Choose the correct part of speech for the underlined word in the sentence.

The Boy is tall and Skinny.

Adjective

Noun

Verb

Adverb

Q.No: 17 Choose the correct part of speech for the underlined word in each sentence.

The students presented a fascinating project.

Noun

Adjective

Adverb

Verb

Q.No: 18 Choose the correct option that completes the sentence logically and grammatically:

We always went to the riverside _______ the weather was sunny.

like

from

of

when

Q.No: 19 Choose the option to correctly complete the sentence in the present tense:

I _________ chocolate ice cream.

liking

like

liked

likes

Q.No: 20 Choose the option that best represents the antonym of the underlined word in the sentence.

The children's exuberant laughter filled the playground, a stark contrast to the somber mood at the hospital.

enthusiastic

playful

joyful

gloomy

Not Answered

Q.No: 21 What does the term "disperse" mean?

Scatter

Assemble

Accumulate

Gather

Q.No: 22 Fill in the blank with the correctly spelled word:

The new employee displayed a high level of _______ in her work.

Profeciancy

Profissiency

Proficiency

Proficciency

Q.No: 23 Which punctuation mark is used to indicate that a thing or a person belongs to somebody?

Apostrophe

Parentheses

Semicolon

Exclamation Mark

Not Answered

Q.No: 24 Choose the word that means "extremely happy":

Somber

Jubilant

Gloomy

Melancholic

Not Answered

Q.No: 25 Choose the correct term for "A person who walks in their sleep":

Ignorant

Walker

Dreamer

Somnambulist

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Not Answered

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 Simplify:

Q.No: 52 What is the Least Common Multiple (LCM) of 24 and 36?

Q.No: 53
Tickets numbered 1 to 20 are mixed up and then a ticket is
drawn at random. What is the probability that the ticket drawn
has a number less than 10.

Not Answered

Q.No: 54
If the ratio of boys to girls in a class is 3:4 and there are 21
students in total, how many boys are there?

Q.No: 55
Out of 80 apples in the crate, 20% were rotten. How
many apples were good?

Q.No: 56 The average of 9 consecutive numbers is 40. What is
the largest of these numbers?

Not Answered

Q.No: 57 Simplify:

11 11

13 13

12 12

14 14

Q.No: 58 The speed of sound in water is approximately 1500
meters per second. How long will it take for sound to
travel a distance of 3 kilometers in water?

2 seconds

10 seconds

50 seconds

500 seconds

Q.No: 59 Simplify:

Q.No: 60
A train travels at the speed of 80km/h. How many
kilometers will it cover in 4 hours?

320 km 320 km

300 km 300 km

20 km 20 km

80 km 80 km

Q.No: 61 Simplify:
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Q.No: 62
A sum of Rs.7000 is lent at an annual interest rate of 2%.
What will be the simple interest after 2 years?

Rs. 200 Rs. 200

Rs. 180 Rs. 180

Rs. 280 Rs. 280

Rs. 300 Rs. 300

Q.No: 63
Raju invested Rs.70,500 in ICICI bank. In two years how
much compound interest will he get, if the first year rate of
interest was 9% and second year had 2% more than first
year?

Not Answered

Q.No: 64 If 25 workers can harvest a field in 20 days, how
many days will it take for 50 workers to harvest
the same field?

15 days

10 days

20 days

5 days

Q.No: 65 What percent of 140 is 70?

Q.No: 66 A is 30% more efficient than B. How much
time will they take to complete a job working
together, which A alone could have done in 23
days?(Approximate)

20.5 days

14 days

18.5 days

13 days

Not Answered

Q.No: 67
If the 2 cousins are of same age and the total of their age is
50 years. What is the age of the 2 cousins?

50 and 52

20 and 30

25 and 25

52 and 32

Q.No: 68
If the cost price of an article is Rs.80 and the selling price is
Rs.70, what is the loss percentage?

Q.No: 69
A merchant purchased 20 kgs of apples for Rs.2400.
He then sold them at the rate of Rs.150 per kg. Find
the profit percent.

Q.No: 70
If you roll a fair six-sided dice, what is the probability of
rolling a number greater than 5?

Not Answered

Q.No: 71
The average of ten numbers is 50. If one number is included,
the average becomes 48. What is the included number?

58 58

49 49

28 28

20 20

Not Answered

Q.No: 72 The product of the ages of A and B is 240. If twice the
age of B is more than A's age by 4 years, what was B's
age 2 years ago?

25 years

10 years

20 years

40 years

Not Answered

Q.No: 73
A vendor buys 5 kgs of mangoes and 5 kgs of
grapes from the market, each at Rs.100 per kg.
He sells mangoes at Rs.150 per kg and grapes at
Rs.90 per kg. What is his loss or gain percent?

15% Loss

20% Loss

15% Profit

20% Profit

Not Answered

Q.No: 74 What is the Highest Common Factor (HCF) of 20, 40 and 75?

Q.No: 75

Section - IV (General Knowledge)

Q.No: 76
The solar energy reaching unit area at outer edge of the
earth's atmosphere exposed perpendicularly to the rays of
the Sun at the average distance between the Sun and earth
is known as _______.

Voltaic coefficient

Solar constant

Energy coefficient

Thermal power

Q.No: 77
Supriya Routary and Manisha Panna, are associated with which
of the following sports event of Odisha?

Foot ball

Hockey

Volley ball

Kabaddi

Not Answered

Q.No: 78
Which Article of the Indian Constitution states the directive
principles of state policy on 'Promotion of international peace
and security'?

Article 35

Article 50

Article 49

Article 51

Q.No: 79 PERT is a technique used for which one of the following?

Project Management

Air Traffic Control

Railway Safety

Electric Power Transmission

Q.No: 80
Name the scientist who first used a glass prism to obtain
the spectrum of sunlight?

S. Chandrasekhar

Isaac Newton

Lord Rayleigh

C.V. Raman

Q.No: 81 What is the currency of Bhutan?

Kyat

Rupee

Taka

Ngultrum

Not Answered

Q.No: 82 In which year did India change to the decimal currency system?

Not Answered

Q.No: 83 The Stand up India scheme support entrepreneurship among:

SC community only

SC, ST and women

Women only

ST community only

Q.No: 84
The ICC "Male Cricketer of the year" award is named after
which famous cricketer?

Sir Clive Lloyd

Sir Donald Bradman

Sir Garfield Sobers

Sir Richard Hadlee

Not Answered

Q.No: 85 Which of the Indian languages is known as the "Italian of the
East"?

Hindi

Telugu

Tamil

English

Q.No: 86 The headquarters of NATO is located in:

Paris

London

Hague

Brussels

Q.No: 87 International women's day is celebrated on:

March 11

March 8

March 13

March 1

Q.No: 88
Which Fort was built by the East India Company in Calcutta?

Fort Hastings

Fort Dalhousie

Fort St. George

Fort William

Q.No: 89
Charles Wilkins is famous for having done this translation from
Sanskrit to English. Which was the book?

Ramayana

Bhagavad Gita

History of Mohenjo Daro

Vedas

Not Answered

Q.No: 90 In which year was the State of Uttaranchal renamed as
Uttarakhand?

Not Answered

Q.No: 91
Which of the following organisms derives its nutrition directly
from other organisms?

Paramecium

Plasmodium

Aspergillus

Leech

Not Answered

Q.No: 92 In India, a motion of no confidence against the government
may be introduced and passed by:

Only the Lok Sabha

Only the Rajya Sabha

Both Rajya Sabha and the Lok Sabha

The Chief Justice of India

Q.No: 93 Which Indian State is also referred to as the "land of five
rivers"?

Andhra Pradesh

Karnataka

Bihar

Punjab

Q.No: 94 What is the full form of "EVM"?

Electronic Voltage Machine

Electronic Voting Machine

Endless Voting Machine

Electronic Visual Machine

Q.No: 95 Charles Correa was a distinguished:

Painter

Literary Writer

Film maker

Architect

Not Answered

Q.No: 96 'Amuktamalyada' was authored by whom?

Pingali Suranna

Vemana

Sri Krishna Devaraya

Srinatha

Not Answered

Q.No: 97 The first cricket player to be awarded Rajiv Gandhi Khel
Ratna Award is ____.

Virat Kohli

Rahul Dravid

Sachin Tendulkar

MS Dhoni

Q.No: 98
Christopher Columbus was said to have sailed to the America
under which country's flag?

Italy

France

Spain

America

Not Answered

Q.No: 99 "281 AND BEYOND" is the autobiography of which sports
legend?

Greg Chappell

VVS Laxman

Pullela Gopichand

Ravi Shastri

Not Answered

Q.No: 100 What do you mean by a mixed economy?

Foreign and domestic investments

Income and price decrease

Modern and traditional industries

Public and private sectors

Section - V (Computer Knowledge)

Q.No: 101 Which shortcut is used to
Left align a paragraph in
MS PowerPoint?

Ctrl + M Ctrl + M

Ctrl + R Ctrl + R

Ctrl + J Ctrl + J

Ctrl + L Ctrl + L

Q.No: 102 Random Access Memory is not a _______ memory.

Primary

Permanent

Costly

Temporary

Not Answered

Q.No: 103 Which of the following is NOT classified as computer
architecture?

Harvard architecture

Oxford architecture

Von Neumann architecture

Microarchitecture

Not Answered

Q.No: 104 The two kinds of main memory are:

Random and sequential

Hardware and Software

ROM and RAM

Primary and secondary

Q.No: 105
Operating system that allows only one user to work
on a computer at a time is known as _______.

Real time operating system

Multi-user Single-Tasking operating system

Multi-user multi-Tasking operating system

Single-user Single-Tasking operating system

Q.No: 106 A formula in Excel always begins with which symbol?

:

=

$ $

@

Q.No: 107 The minimum zoom supported by PowerPoint is_______.

20%

5%

15%

10%

Not Answered

Q.No: 108 What is the purpose of a subnet mask in networking?

To control internet access

To allocate IP addresses dynamically

To identify the network and host portion of an IP address

To encrypt data during transmission

Not Answered

Q.No: 109
__________ is a program which is installed on a computer
system to spy on the system owner's activity and collects all
the information which is misused afterwards.

Worms

Spyware

Firewall

Trojan

Q.No: 110 Microsoft Word is a word processor
developed by Microsoft. In MS-
Word, Spelling Check is a feature
available in which tab?

Home  (Home)

Insert  (Insert)

File  (File)

Review  (Review)

Q.No: 111 HTTP is a ___________.

Document

Domain name

Protocol

File name

Q.No: 112 The file attached to an email is called the __________

File

Attachment

Text

Subject

Q.No: 113 Which shortcut key is used to
“Display the Font dialog box” in MS
word?

Ctrl+B Ctrl+B

Ctrl+R Ctrl+R

Ctrl+D Ctrl+D

Ctrl+A Ctrl+A

Not Answered

Q.No: 114 A worksheet is made of columns and rows, wherein

the run is dependent on the application being used

columns run vertically and rows run horizontally

Both column and row run horizontally

columns run horizontally and rows run vertically

Q.No: 115 The scrambling of code is known as __________.

Encryption

Firewall

Permuting

Deception

Not Answered

Q.No: 116 Verification of a login name and password is known as
_____________.

Configuration

Authentication

Accessibility

Logging

Q.No: 117
What is the full form of DVR?

Digital Video Recorder

Digital Versatile Recorder

Digital Voice Recorder

Digital Visual Recorder

Q.No: 118
What protocol is commonly used for sending and receiving
emails over the internet?

HTTPS

DTP

DNS

SMTP

Q.No: 119 Which command is used to close all the workbooks in Excel?

Alt+ F4

Alt+ C

Ctrl+ C

Ctrl+ F5

Q.No: 120 What type of network is an intranet?

MAN MAN

WAN WAN

LAN LAN

SAN SAN

Not Answered

Q.No: 121 Each user of an email communication should possess
_______

a unique identifier, called email ID

Name

Hard disk



Hard disk

pen drive

Q.No: 122 A vast network that connects computers all over the world?

Intranets

Internet

MS-office

Post-office

Q.No: 123 Four directional (left, right, up, down) arrow keys
that are arranged in an inverted T formation are
_______

Cursor control keys

Function keys

Special key

Alphanumeric key

Q.No: 124
_______________ provides process and memory
management services that allow two or more tasks,
jobs or programs to run simultaneously.

Multiprocessing

Multithreading

Multicomputing

Multitasking

Not Answered

Q.No: 125
In OSI model, What does 'I' stand for?

Interconnection

Internet

Implementation

Interface

Not Answered

Section - VI (General Science)

Q.No: 126
Which chemical equation best describes how potassium
and water react?

Q.No: 127 ____________ metal is the most malleable metal.

Aluminum

Iron

Gold

Lead

Not Answered

Q.No: 128 A freely suspended magnet aligns in which direction?

East - West

North - East

South - West

South - North

Q.No: 129 During which seasons is sugar stored in the root or
stem tissue and transported to the buds that
require energy for growth?

Springs

Autumn

Summer

Winter

Not Answered

Q.No: 130 Which one of the following shows the correct relationship in
terms of reactivity?

Not Answered

Q.No: 131 What is the pituitary gland's reaction to the
hypothalamic hormone GnRH?

Regulates posterior pituitary directly

Inhibits the release of growth hormone

Stimulates the synthesis and release of gonadotropins

Produces neurosecretory cells

Q.No: 132 How is the concentration of hydroxide ions (OH-) affected
when excess base is dissolved in a solution of sodium
hydroxide?

Increases

Remains constant

Decreases

Becomes neutral

Not Answered

Q.No: 133
Uranium is a _________ source of energy

Potential

Non-Renewable

Renewable

Kinetic

Not Answered

Q.No: 134 In which group of plants seeds are naked or not protected by
fruits?

Pteridophytes

Angiosperm

Sepals

Gymnosperm

Q.No: 135 _________ is the SI unit of electric charge.

Volt

Ampere

Fuse

Coulomb

Q.No: 136 What are substances that are broken down by biological
processes said to be?

Non - renewable

Renewable

Synthetic

Biodegradable

Q.No: 137 The dialyzing fluid has an osmotic pressure equal to

Saliva

Blood

Urea

Water

Not Answered

Q.No: 138 Specialised cells to fix atmospheric nitrogen are called
_________

Monocysts

Chemicysts

Heterocysts

Fungiocysts

Q.No: 139
How does the tube from the pollen grain reach the ovary after
landing on the stigma?

It extends through the sepals

It travels along the style

It penetrates the ovule directly

It grows through the petals

Q.No: 140 __________ prevents short circuits in an electrical circuit

UPS

Fuse

Battery

Generator

Q.No: 141 ___________ is the term used to describe the
phenomenon where genetic variations become
common in a population due to survival advantage.

Accidental survival

Genetic drift

Genetic mutation

Natural selection

Not Answered

Q.No: 142 _________ is the most commonly used base found in
laboratories.

Gypsum

Caustic soda

Graphene

Sulphuric Acid

Q.No: 143 What are Convex lens also called?

Converging lens

Dispersive lens

Scattering lens

Contracting lens

Not Answered

Q.No: 144 The largest wind energy farm is in which state in India
________.

Tamil Nadu

Gujarat

Mumbai

Karnataka

Q.No: 145 One of the reasons for disruption in the ecosystem is _____

Climate stability

Increased biodiversity

Killing of organisms in one trophic level

Preserving habitats

Q.No: 146 Pyruvate is broken down to produce carbon
dioxide, water and energy in the ___________.

Mitochondria

Nucleus

Chloroplast

Cytoplasm

Q.No: 147 Which of the following substances are regulated under the
Montreal Protocol?

Methane

Nitrogen

Chlorofluorocarbons

Greenhouse gases

Q.No: 148 Sublimation refers to :

The transition of a substance from solid phase to gaseous
phase without changing into liquid phase

The transition of a substance from liquid phase to gaseous
phase without changing into solid phase

The transition of a substance from solid phase to liquid
phase without changing into gaseous phase

The transition of a substance from gaseous phase to solid
phase without changing into liquid phase

Not Answered

Q.No: 149 Which kingdom comprises organisms that are
primarily decomposers and absorb nutrients from
their surroundings ?

Fungi

Animalia

Protista

Plantae

Q.No: 150 scurvy is caused due to the deficiency of :

vitamin B

vitamin D

vitamin A

vitamin C


